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Inta,b;
a=(b,5,b+15);
b=((a<b)? 2 :3),
printf("%d",b);
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intx=7,y=8;
Printf("%d" , x&&y);
Printf("%d",x&y);
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define tax 005 .v const tax 005 .\
# define tax 005 .f # define tax =005 .¥
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Main( )
{ unsigned char c = 4;
c*=100;
Printf(" %d " , c);}
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#include <stdio.h>
#define space '’
main( )
{ char ch;
while (ch= getchar( ) !="\n’)
{ if(ch != space) putchar(ch);
else putchar(ch+1);}}
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#include <stdio.h>
main( )
{ float x=123.456;
Printf(" %f %.3f %7.2f " x,x,x); }
123.456 0.456 123.46 .Y 123.456 0.456 123.45 .\
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#include <stdio.h>
main( )
{ int n=20;

while (n>0)
printf("%d\n" ,n--); }
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#include <stdio.h>
main( )
{int x,n,i,z;
Scanf (" %d%d " , &n, &x);
For(z=x,i=2;i<=n ;z*=x, ++l);
Printf ("\n%d " ,2z);}
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While (1)
{ c=getchar();

If (c == '@') break;
Printf (" %c " , toupper(c) ); }
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Int f(inta,intb)
{ int c;
C=(a>=b)? a:b;
Return c;}
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Long f(intn)
{
If (n==1|| n==2) return (1);
return ( f(n-1) + f(n-2) ); }
13 .¥ 3.¢ 5. 8
310 i e 11— P30 Jlunowd 1010/1010648



e 2 - p— o
Cawgl (uazi g U1S olmo & S 2 3,1 () e @ pas idiag Jgail j=5,a f;'jf”‘;i\

cloRpE 5ot i 2 (4B0) oyl o) Pl Yot G 3 O gu SN0

5w 40l 329 57 gapalS (iluo 3 ¥ 39 3l g
INA+1B (ol cdlo) S 38 590 9 (051) S0 jude( (51 dimd) UG jude( (63 32 )15) S0 383 w38 WS/ v 4l

(G pjaolipazhd 29,5 I
#include <stdio.h>
#definemac for(s=0,i=1;i<=n;s+=i,i++); \
printf (" %d " ,s); \
main( )
{ int I, n=10,s;
Mac

}
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fp = fopen ( " test2.dat", "at"); A
fp = fopen ( " test2.dat ", "w+t"); Y
fp = fopen ( " test2.dat", "r+t"); A
fp = fopen ( " test2.dat", "a+t"); f
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&5l 1,3 stdlibh sl gl aibsulis” o g asl o printf 4 scanf .9
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Void main ( )
{ Float a=5.00;
Printf(""%d%d", sizeof a , sizeof(float));}
5.004 ¥ 22 .¥ 44 ¥ 66

(s 1) aoliy azhad 29,5 V7
nt j=0,m=1,n=-1;
Floatx=2.5,y=0.0;
Printf(" %d%d%d ", x *y<j+mlln, (x >y) + !j lIn++, (jllm) +( x Il ++n));
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switch(n/2)
{

case 1: printf("1");

case 2: printf("2");

case 3: printf("3");

case 4: printf("4");

default:printf(""5");
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for (i=0;s[i]!="A";i++);
s[i]='B’;
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int a[3][4][5];
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